H 17 A =

HYEA FB T HER
= ¥ 4 BRI/ NI B HEE 7 AR N BT TR At
% Bk LY
AFfL# B 512 H22H R0
F & i K 2,376,000 (HNEEBL 216, 000F9 )
WL ¥ E R B3 R AT T ) 1141368
ARl o 2 —
& 1T #1 M AF54E12H25H ~ 63 H29H
% . &% 1,342,000 (NHEEBL 122, 00019 )
O TRE AF54E12H25H
B4 K% Tl FR 4 i g AL O E i (2 B9 5 B 8 FLOBEIC L D
M = BRENHER DFRAFHEI D728, T ARZ M EAIRME ] LT D0t E2 Eiid 5 o
(AFLEEE L, HERIREOEEETT)
% PR - R E] o2 A %03 A {iid =

e b o o — 1,220,0001| [ % #L ]

@%fﬁiﬁ‘%é\ U 'H‘““g‘ u&ﬁﬁ% 1. 400 000']%

5 , 400,

T X ARG HE T

1, 540, 000




# 1T Ei| =
HYE4 PE IR FEE
= ¥ 4 —“EHILUFx v HREEE BIBERER O TME
B Bk LY
ARLH# A ASFIBAE12 H 22 H R0
F & i K 1,562,000  (N{HEBL 142, 00019 )
% AL EE etz BB U A 67 i Ay HT =15 111956
BEARAERR R
& 1T #1 M AF54E12H25H ~ 63 H2TH
% . &% 1,507,000  (N{HEBL 137, 00019 )
O TRE AF54E12H25H
B4 % T T HE 4 B4 AFL O FhE 1z F%*ﬂ“é%fﬁu‘l% SFKDOMEIZL D
M = R ORBICHAKD LA CTRMICIRAZZENE D -0EET D L0, bbbt TREE AR LM
IR E LT DU FNRA L“Cb\ét&)ﬁﬁ 1T 9,
(AFLEEE L, HERIREOEEETT)
% PR /o1 [FH %2 [\ % 3 [A fir =

B~ v R pEHE 1, 520, 0001

BRI AR (R 1, 440, 000

Rk HEax T LH 1, 475, 000

(AT 1,400, 000[1]

BRI 1,370, 000[1] [ % #L ]




H 17 A &

HYEA B X —
X 4 B o ¥ — A EEA (R — =L
% Bk LY
AFfL# B 512 H22H R0
F & i K 1,100,000  (N{HEBL 100, 00019 )
% AL EE ety R RO o R AS A T P 38 =5 7 = 4901
YL IR P SR M P R ST
& 1T #1 M AF54E12H25H ~ SM6FE1A3LHA
% . &% 1,771,000  (N{HEBL 161, 00019 )
O TRE AF54E12H25H
B4 % t e Bt AFL O E il B3 5 EME 8 o MEIC X D
M =
(AFLEEE L, HERIREOEEETT)
% PR - R E] %2 |4 %03 A {iid =

T TRESEM R T 700, 0004

A H AL =Y A= MR = R

S A= R [ R ]

HAY ¥ 2 07— (&) AU

tnis 1, 200, 000

3“\\‘/1/:@%%(*%) EP%K?Z?J{%{@ 1,610, 000 [ % AL ]

L=




HY A EHR
H X A4 J7 4 i S A
B Bk LY
AFfL# B ASFIBAE12 H 22 H R0
F & i K 1,254,880 (N{HEBL 114, 08019 )
HALEE MRty R U A e T SR T AR 342

~v 3 pEes
& 1T #1 M AF54E12H25H ~ SM6FE3H15H
% . &% 1,251,800  (N{HEBL 113, 80019 )
O TRE AF54E12H25H
B4 % t e Bt AFL O E il B3 5 EME 8 o MEIC X D
M = ITENTHAT AN EEZBATLIHO

(AFLEEE L, HERIREOEEETT)
% PR - R E] %2 |4 % 3 |4 {iid =

e [ & 3 ]
RN S (P 1,300, 000[1]
I B2 R A — B AR [ % 58 ]

<= o pEe

1, 138, 000 [ % #L ]

SR IHE 2 e S = [ & & ]




